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INSTRUCTIONS TO CANDIDATES :

SECTION-A is COMPULSORY conslsting of TEN quoalions carrying TWO warks

each,
SECTION-B conlains FIVE questions carrying FIVE marks cach and students

havo to altemnptl any FOUR questions,
SECTION-C contains THREE questions carrying TEN marks each and students

have to attampt any TWO questions.

SECTION-A

Answoer briefly ¢
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Cinve pn examppie of dynatie prapreainn spprosed

Wit elo yorr nnder stand ity :ri,rr;rilh-u easlnatony
What is NP-conmplete problem?

Whal is asvmptolic time cosplexity?

What is the base ;H‘il'll.:i]‘!:li of dhivide- and-congyuer”
bowd fhe various :lppiiculium ul'l).lfti and 1S,

How the Prim’s algorithm is better in lmdmg the Minimal spanning Iree in comparison to
the Kiuskal's method?

What ziee henristics” Whae are theiy chavaeterintos?
What are the viwious steps in the desigi o an alporitha?

Atre the subs solons overlapping m dsamis paoaprammung appioach?
ey e,
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SECTION-B
Lixplain the Big-Oh computation for cach of the following control stiucturcs:

1
(1) Sequencing

(i) [f~then-¢lse

(i) “lor™ loop

(1v) “While™ loop

(v) Recursion

Solve the following instance of the knapsack problem using branch and bound technique

(assume W = 3)
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P30 Apply Pran’s Algonthm and Kruskal algorithm to the araph obtain minimm spannng

tree. Do these algorihims generate same output-Justily.

14, Explain the concepts of P, NP and NI> completeness.

15. What are NP hard problems? Write short notes on the procedires ol i ollowing
approximation algorithms to solve TSP using suitable examples.

a) Nearest Neighbor algorithm.

b) Twicc-around-the-tree aigorithm.

SECTION-C
16, Writc an algorithm for mcu:.::ing (wo sorted arrays into one array. Explain with suitable
cxamples.
17, Modily the Dijkastra’s algorithm to solve All-Pa irs-Shortest-Path problen.
lowing functions :

18 Find the Big-Oh notations for the fo!

(i) [(n)=TR&3Y
(i) f(n}=06u’ + 135
(i) f{n) "~ 70’4 &n ' 36

4 )
(v) f(m) =t 350 v K
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